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Hadamarda, Hartleya oraz kosinusowej typu 3 (DCT-III) [1].

!���	��	#$����	���	
��	
������	���������	����������	�

����	�	�	����	

"�	#���
������	��
���	��$�����

?	�����	6
��	2��	��	��	I�	J4	��6
�6���	����	�	����B6���	
��	���B���	�����6�7B	�6���

	=����������	6��
	����7	8���
��7�	
������	���7	6�6
���	���@����	�
���8�
���	��1����	�	8���
�

���	��	����7	����
����7	�
���8�
���7� 



!�������	�	
��
	���	�	��	�	
����		����	���	�����
	���������	��������������� ���

���������	
	�	�����	
���	�	
��	����	����������		�������	
�����	
��		 ���		x oraz
jako h wektor odwrotnej transformaty filtru zdefiniowanego w dziedzinie transformaty,
wynik filtracji, y 	�	
��		����!	"���
�	����

[ ] T
nn = ⋅ ⋅y h W x (1)

��"��	 �
�����	
�	 ��
����	 
���"��� 	 �
	 �#	�"�	 		 	�����	��	 ��������	 n	 
�����"$���


�ktora, natomiast macierz kwadratowa Wn ����	"���
��		�	�	"
�
����	������	������	%&'

�=�������	n�	 (	 ����"��#	 �	"
�
�����# 	 
	 ����	 �	��	�	
����	 �		 "�����	 )*+ 	 ����	 ���,��

�������	,$�"��	�"���	��	��	,�	��			������	
��#	����	�����# 	�	,�	��	��	,$��	�����	
���

���	
���	���

%�	&�
��	�����������	�������'(����

"1�����	��	���������	�	
������	#	�	6
��7B���	6��������	��	������	��1���	��B��	��@�

��A	��6�����	���	����1�	�����			6������		����
�	�7

est= −e x x (2)

5�	6�����	��	;#<	�	;-<	����7��	��������		����
�	��B��	��@��	�����	��6���A	7���

[ ] [ ] ( ) ( )T
n obsn n n n= − ⋅ ⋅e x h W x (3)

K�@���	6
��7�����	 7���		���C���	���	�
���
���	�6���������7�	����1�	 8���
�		�
��:A

6�
ametru

( )2[ ]nQ n= e (4)

��	�7����		�
��:A	1
�������	���	��1�		���C�����		���������1�		�1�B���	�����		�6��.

��������		8���
��		�
���	��B		��
��

2 ( ) [ ]n
n obs

Q
n n

∂
− = ⋅ ⋅ ⋅

∂
W x e

h
(5)

Indeks n			��	�����	��
>1���	6
��		����
��	��������	�@	7���	��	����	����1�		����
�

		n.���	�
���	��1�
���� 	"1�����	�	
�1��>	6��>@����			���
����	�7����7		�
��:��	1
�.

������		���C����	 ;�<	��@��	 �����		�������A	 6
��6��	��	����8����7B		�6����������	

8���
��	����7>�	��	��1�
�����	?��
�	�L/�88�

( 1) ( ) ( ) [ ]n obsn n n n+ = + δ⋅ ⋅ ⋅h h W x e (6)



�$� 0
�������		1�
�����

?		����	6
��6������	����@��:A	�������2	���1�	6�6
�	���	1��		�6��������	δ	���1�

���p���	���	�����7�������	��	6
������	6�6
���	�������	����		�6����������	α	M	#

1n n+δ = α ⋅ δ (7)

0����	�@	��1���	��������	7���	��	�����	�	���1�:��	N,	��1�
���	�6�����	����@��:��>	;I<

����	��A	��	 ��1�	6���7:���	��6�	������	�������	��� 	3��6���7�	
������	���	 7���		=��.

�����	��6�	����7>����	����7���	������ 	5�	6���>���			
�����	����1�	�����		y������

��B		�
��:A	6��
	���1�	��������		����
�	��B��	e, dla n = 0,	6�	����	����B6�7�	������

	�6����������		 8���
�	 �	 6���	��		����������		���������		����
�			����1	 ��������

�	 
������	 # 	 H�����	 n	 7���	 �	�B������	�	 #	 �	 6���	���	��
�1�	���	 7���	 ����		�ktor h 

0
�����
�	��	7���	
������	���	��	��	���	���>1��B���	��������1�	���eksu w bloku, czyli gdy
n = N L	# 	"����			��@���	�����	 ��1����	 6
�����
�	���6����7��	 ���6���	�	 N.�
�����

�������		�
��:A		����
�	h 	5�	��2��	��@��1�	�����	��
����7�	��B	8���
	�����6��	���	��

��1����			���		��:���	����� 

)�	&�
��	�����������	�������

Dla otrzym����	6�����7���1�	��
���	6
�6���	���1�	6���7:���		�6
�	������	������


�w���@	��6�	�����		��
	 
������7>��	 8���
��7B	 ?����
�				�
�7�	�6�������7 	 0�����	�.

	��	����@�����	��1�	
��	�>�����	7���	1��������	�	���	���6���	��	7��	��	��B	����7�			6
��.

6����	 8���
�	 ?��
�	�L/�88��	�����������7�	 ��B��	 6�6
���	�����������7B	 ����B6�7>��1�

	���C�ika

( )
1

2

0

[ ]
N

n

J n
−

=
= ∑ e (8)

N�������7�		�
����	��
�	����	6���������	��>����	���	��1�		���C����	6�		�����.

����		�6������������	8���
�

J∂ =
∂

0
h

(9)

prowadzi przy wy��
��������	;#<	��	����B6�7>��1�	
��	�>�����

1−= ⋅h B b (10)

gdzie

( )
1

0

[ ]
N

n obs
n

n
−

=
= ⋅ ⋅∑b W x x (11)



D�����7�	��@��	�:��	�������	����	�6���	��1�
����		8���
��7�	���6����7��7   �$4

natomiast

( ) ( )
1

0

N
T

n obs n obs
n

−

=
= ⋅ ⋅ ⋅∑B W x W x (12)

*�	������	��
�
����

"�6
�6���	���			6������	�	��1�
���	������	6
�������	���	�		���
���������	����.


���		��
�����	 �
���8�
���7�	 ��8
�	��� 	 5�
���	�	 ��1���		�7:���	��	 N O	 3�	 6����>��

7���o���:���	 
��B	 ��1����	 
�8�
����7��1��	���	��	��@���	 
����	 �	�
����	��	 6�����	��

����@o��7	 �	 1�
�	 6������	 �
���8�
���� 	 ?	 6
��6����	 6
������	������	 6���@�7		�����	

�
���8�rmata zaw��
���	�����	7���>	�����
�	>		�
��:A�	#�			6������	�	��������	k O	-	;6
��

�������	����	��	$< 	9�1���	�������7>��	���	1���
�	���	6���������	�	�	��6�����>	��1�

����1�	
�B���	��	��1���	
�8�
����7�� 	0
��	
�������7�	��1�
����	6
��7B��	����B6�7>��		�r-
��:��		�6����������	P	δ0 O	$��Q	α	O	$���4 

!���	"�	%��������	�	
���
�	���
�����	������	���	���
�����	�����	���
��		��������	���	������

�
�
�
������	�
��	R
�����	�S	����	� 			���
�����
	������������	!�����	
��
����	����

		���
�����
	�
�	������������

"�	�������	�	
��
����	����			���
�����
	����s�������	!�����			����	�
���#			������



��������	
�	���������	���
����	��$	�����	
�	���
j����	�������	���
������	���������	����%

�
�	&	������
	
��
#�
��			������	
�
�	�����	�����	������	�����	#����	�	��
�	�
����	���

�������	�
�
�
�����
���	��������
��	�=���	�����
��'

(�
�	�
���
	��������
	
��	�
������	����
	
�
��	���)	��
��
���	��
�	�����������

������	*�
�
��	�+, �	�++ 	�	�+� �	����
	
����$�
	�����
���	����	��
���
	��
���	���
	�������

��		������	������	��	�������	�
�
�
�����
��'



-�. /�"������
	0	�	#	��

!���	%�	%��
#�
��	�������
	���	�������������1	� 	!�����	# 	!���������	� 	!����
���	� 	��������	
�

��
�	&2	��
���	�����	3	
��
#�
�	�
�
�
������	�� �	��
����	�����	3	
��
#�
�	�#�
�	�	���	����� �

������#���	�����	3	
��
#�
�	
�	���������	��	�
 

+�	,����
������

4�6
�6���	���	�	6��	��
�����	�������7���	
��	�>�����	���@��	��	�������		��:��.

	�:��	 8���
�		 ���6����7����	 �
��	 
��	�>��	����	 ��1�����5	 8���
��7�	 ���6����7��7	 6
��

���6�:
�d���		���
��������		��
���7	 �
���8�
���7�	 ����
����7�	 ����7	 ��@	 6�	��������

�tosowana transformacja Fouriera. Badanie danego problemu z wykorzystaniem transfor-
macji dosto��	���7	��	�6���8���	��1�����	���	�@	7�1�	�6��	��	���
����
	66
>@��	�7�	6
�	�.

���	��	�d6�	������1�	�6
���������	
��	�@�5�	���B��	�����	6������	���	
��	�>�����	���.

7�	��B	��r����7	��������	�	���	��7���	��	�6������ 

-���������

8+9 :����
	;'<'1	��
�������������������
�	�'	=���
���	%�
���	+>?@

8�9 !�����	A'1	��
�
��	����
	����	���'	B


�	A����
	;�T
��	%�
����
	!���	+>>6

8&9 &�������	%'�	C�#��	���	='1	�	�	�
���	������
��� ��
�����
	���	


�����������!"
����
	�������

 ���

��#���
������
�	���
������� ��
��'	D��
�����1	EFFF	*������
	��	A�����	%���
������	%�%

���'�	�,,&�	G@3?,

8�� �������		
��	
��������	���	�	�	�
���	��������!
�������"	�
�$
�	����� ���	�	����	���	����

��� 
!"�	��#$���#%&		��'	#�(��	#		)�(�(	��*�� 
�	+����,�	�--��	./01./2

�< �<

�< �<



D���3�7�	4�@5�	�:��	�������	����	�6��3	�51�
��46		8�5�
��7�	���6����7��7   �$J

274 1�
�����	 0 �	 D>�
�	���	 3 P	�	�	�
���	�� "�����!
���� "��"	�
� ���� ���
	����� ��� �
����� ����
���

�	����	���	 ���	+������)	�#	��'#	�	
��%����#'�	
�(#	,�	�--��	@@12-

82� �������		
��	�	�	�
���	��"�����!
����%�
��%����%���� ��� 
�	�����
������
���	�	����	���	����

 #���#	���#	�	+������)	�#	��������	��'#	��		#�	 �	'�	
��%����#'�	
�(#	,�	�--��	0901092

8/� �������		
��	&���%�	�������'("�
�����%�	�������!���%	'���
�%���
��"��
�
������
"'�������	
)

��"��	
����%(#��	�:;	�����	���	�	��	9�	(�	0�	�--��	0@�10@.

89� 
��	���	:��	�	#��	���	
�:��	 ���

��#���
�����"	�����*�����"���	�+�������
����
��������"

�����

0��	����	
��#��%�	;	���	�..2

8.� <����,���	=��	&��
	��������"����%	������	
%
��
��
�����
,-%�	��	����	+���	�:;	�--�



�-9 
�(�����	�	�������	


